TABELA ROBOT ZIEMNYCH

POWIERZCHNIA [m2]

POWIERZCHNIA s$rednia [m2]

OBJETOSC [m3]

PRZEKROJ WYKOP WYKOP ODLEGLOSC [m] WYKOP
0+007.42 4,179
4,3195 15,63 67,513785
0+023,05 4,46
3,745 13,1 49,0595
0+036,15 3,03
2,8975 9,6 27,816
0+045,75 2,765
2,1425 8,15 17,461375
0+053,90 1,52
OoD1/0D 1l
0+060,00 3,343
3,1335 9,2 28,8282
0+069,20 2,924
2,664 20,8 55,4112
0+090,00 2,404
2,757 21,2 58,4484
0+111,20 3,11
3,174 16,72 53,06928
0+127,92 3,238
3,266 18,78 61,33548
0+146,70 3,294
4,492 13,3 59,7436
0+160,00 5,69
4,2145 6,16 25,96132
0+166,16 2,739
2,563 17,26 44,23738
0+183,42 2,387
2,888 16,19 46,75672
0+199,61 3,389
suma 595,64224




